Verifica di matematica

Metti in colonna e calcola:

951,55+ 7,735 = 748,41 - 1,2 =
6,4 +416,41 = 68 -7,23 =

543 +1,6= 179,7 - 153,34 =
141 +6,5 = 981,11-2,7 =
326,1 +400,71 = 777,2-7,62 =
4,3 + 595,622 = 397 -5,8=

90 + 536,4 = 8-6,776 =
1,4+5,701 = 651 - 7,35 =
7+918,3 = 7,6-5,672=
1+8,7= 79,5 - 68,49 =
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Verifica di matematica

Calcola oralmente:

0,068 x 1.000 = 14,5:100 =
0,83 x 1.000 = 135:1.000 =
27,5x10 = 3:100 =

0,57 x 100 = 180 : 100 =
4,33 x 1.000 = 27 :100 =
0,09x10 = 82 :100 =
5,7x10= 3,6:10=

1,2 x 1.000 = 5.400 :1.000 =
0,6 x 1.000 = 0,9:10=

8,7 x 100 = 1.300 : 1.000 =
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